
FIRST TIME INSTALLATION
* REMOVE PARTS FROM INSIDE THE PACKAGE AND CHECK THEM ALL

* CONTACT YOUR DEALER IF ANY PART IS MISSING OR DAMAGED
* USE THE EQUIPMENT SPECIFIED FOR INSTALLATION

R
ev

 1
.0

 - 
0

8
.0

6
.2

0
2

0
 (T

P
R

K
)

www.canotomotiv.com.tr  /  turtlecancarry.com  /  turtlecancarry.de  /  canauto.store  /  canauto.ru
Veliköy OSB 4. Cadde No: 20/A Çerkezköy/TEKIRDAĞ
CAN OTOMOTİV İNŞ. İTH. İHR. SAN. VE TİC. LTD. ŞTİ.

+90 282 746 1320 info@canotomotiv.com.tr

ROOF RAIL CROWN
MR01044 (SWB)

VWGN CDDY (2K) VAN 03-

SWB

NO PART DESCRIPTION QTY
1 M8x35 INBUS BOLT  2
2 M8x60 INBUS BOLT  2
3 M8x50 INBUS BOLT  2
4 PLASTIC STOPPLE  6
5 M8 WASHER   6
6 RUBBER PAD MID  2

1

4

5

6

6

3

4

5

1

4

5

3

4

5

2

4

5

2

4

5 LEFT (SOL)

RIGHT (SAĞ)

ATTENTION!
If your vehicle is 2003-2010, there may be no rear holes
in the vehicle’s roof. So don’t use the rear connections.

Close the plastic caps (no.4) directly.


